Al & 0O &8 AF S E M M
20188 = =20fl A LB
FJF: MHBHRARAS
SN =MD
y o YPEB 25 (Ee:dd)
ARB| - BA - B O (BH) - HEAY - BLS Ofl &k 2 Sae HD=2
MALANF S E 565,270,039 533, 193,856 32,076, 183
= 117,163,313
Xl 29,849,000
J| 7,136,571
Al 411,121,155
=MI| =} 5,702,956 3,892,127 1,810,829
= 875,000
Al 4,827,956
ANRetE 25 5,655,776 0 5,655,776
= 875,000
Al 4,780,776
sMI)IE FMFX 5,655,776 0 5,655,776
= 875,000
Al 4,780,776
=MI|FE Z2HAH =& 16,200 0 16,200
201 et A | 10,000 0 10,000
03 A2 HHI 10,000 40,000 230,000
OJIZEHs 22 ARIEIL 10,000,000& 10,000
202 o4 Hl 2,000 0 2,000
01 2N HI 2,000 0 2,000
O=sMIIE 24AH =& bl 2,000,000& 2,000
203 2R =&H| 4,200 0 4,200
03 AIHF=XLRFXY| 4,200 3,240 960
OsMIE 42X 4,200,000 4,200
SMET ANBE 18,400 0 18,400
201 et H Y| 10,000 0 10,000
01 AtR&2ldl 10,000 10,000 0
OsMERET HE S |0 2,200,000 2,200
O=sMHERJS EAaxY 7,800,000 7,800
203 2R =&Y 8,400 0 8,400
03 AIZHERHRE=XIH| 8,400 7,776 624
OsMEE ANHFE 8,400,000 8,400
IIEHE s & 838 SEAHE ol" 30,000 0 30,000
201 2 Er2 9| 30,000 0 30,000
01 AFR2teldl 29,000 11,000 18,000
OJ=d8s Hs(Z=s,28) & 0 11,000,000 11,000
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ng=E=piiey
ST
X P e —
3 - 2A A(B) - MIRAE - BES ofl &y S5 52
OJI=H3 28 us 5,000,000 5,000
OJl=Hz ¥ ofd Eot 10,000,000& 10,000
OJ1=H#3 Olg®EIL & XY 3,000,000 3,000
03 &AZE 1,000 1,000 0
OJ1=83 Us( Hg) AN 2Ag3
1,000,000& 1,000
2A0tA HERANAM A 88,770 0 88,770
201 get2 3| 88,770 0 88,770
01 AR 88,000 88,000 0
o=24 E MM Hg 25 30,000,000 30,000
o2« EXHUN Z2LHEANE 8 HS
37,000,000& 37,000
o224 HHEa =t 29 H35 15,000,000 15,000
o224 BHE2HA 2XA O 6,000,000 6,000
02 3524l 770 0 770
O240t2x HHEAHAANE 2A3lY| 770,000 770
24 0tA 408,000 0 409,000
201 Let2 7,000 0 7,000
01 At 2 7,000 5,000 2,000
OZZEL 2412 Y= 24 XY
5,000,000& 5,000
oAR ¥ elsAA &3 2,000,000 2,000
202 o 8l 2,000 0 2,000
01 =LHoil 2,000 0 2,000
o=24 Fg oy 2,000,000& 2,000
306 =& 400,000 0 400,000
01 243 400,000 269,000 131,000
OalE 8 X 400,000,000& 400,000
SBRE 2 A (HE) 100,000 0 100,000
= 50,000
Al 50,000
401 AlEHIY 100,000 0 100,000
= 50,000
Al 50,000
01 A& 100,000 0 100,000
O83FE 2= Jl=&e 100,000,000 100,000
= 50,000
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SIES: MAFHHS
2 M sM)ED
¥ oM [REY £5 (Ee-84)
ARS - A - HH - GA(S) - MEAY - BES Of & o4 e HIDE2
Al 50,000
JIEHE BE BN 307,336 0 307,336
201 LBt | 7,336 0 7,336
02 22| 7,33% 6,812 524
OXHXISHH SRI2ZE3I(ICLEI) 2 3IH]
7,336,0002 7,33
308 RtXISHRISOI & 300,000 0 300,000
11 JIEHRE 3 300,000 0 300,000
OM48%t IPCC B3 HETAl =3 300,000,0008 300,000
ZBEE 24IA ZEAY(NY) 150,000 0 150,000
2 100,000
Al 50,000
403 X BHHIS 01 ™ 150,000 0 150,000
= 100,000
Al 50,000
01 XXIS M= X 150,000 0 150,000
ORaItA 25 SLHYAAY ISAY
150,000,000 150,000
= 100,000
Al 50,000
=MI|2I|2(60F) ARR S N8 ¥ 2 2,930,570 0 2,930,570
201 B2 | 2,027,000 0 2,027,000
01 AbR2r2It] 1,987,000 1,464,000 523,000
OGCFAIRA! THE % 22/t 1,466,000,0009! 1,466,000
OGGGIAFR A 2THE L 22| 132,000,0002 132,000
OGCFE® X K& 339,000,0008 339,000
OZHAIOH ALE NI 20,000,0008! 20,000
OGCFIE L &% 30,000,0008! 30,000
03 A2 H 40,000 40,000 0
OGCFOIANS] & GOFZHR =H3IS N S
40,000,00084 40,000
203 PR E | 7,200 0 7,200
03 AIMETYLSFTH| 7,200 7,200 0
OGCF2tE YR 7,200,000 7,200
301 LB A 20,000 0 20,000
06 BI12+0I =201 20,000 20,000 0
OGCFRH2THAF 22l 01 ] 20,000,000 20,000
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A AHBHRASE
SN =M)I3D
g H: X7Ped B (&9 &)
ARE| - PA - ZH - BRA(BH) - NIRAE - BES o &y SSe HIDS2
401 AIEHIR 2T 876,370 0 876,370
01 Al&Hl 876,370 659,818 216,552
OGFAIR = FOt MRSt =8 & d - HHAIE
=P 876,370,000& 876,370
SMME ANQAN S2EAY 16,500 0 16,500
201 2Bt2Ed| 16,500 0 16,500
01 AFS2t2lbl 16,500 16,500 0
OsMyzE &4 82 & WS 5,300,000& 5,300
OJI=83s =3 U] ZA+=E 11,200,000 11,200
HIMIEE AFAE 240HA MCAME(HY) 150,000 0 150,000
= 75,000
Al 75,000
307 212+01 ™ 150,000 0 150,000
= 75,000
Al 75,000
02 QIZFBAAHE = 150,000 160,000 210,000
OMI=SIUERND 2 & &4d Z20d X
& 150,000,000 150,000
= 75,000
Al 75,000
HIAHSER AIAE 240tA ML E(XIH-) 90,000 0 90,000
= 60,000
Al 30,000
308 XXM SOIH 90,000 0 90,000
= 60,000
Al 30,000
01 AXEHBLEEES 90,000 90,000 0
Ol =stdER D A3 2828 &
90,000,000& 90,000
= 60,000
Al 30,000
STAZOIEN DI QMEY XIS 433,000 0 433,000
2 282,000
Al 151,000
301 et d = 40,000 0 40,000
= 20,000
Al 20,000
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Y3 MHAAH AR
£ N SM)|2D
d 3 Q73 23 (el &g
A/S| - A - B - BA(S) - HISAE - BAS 0f are e HRS2
1 JlEt2 &= 40,000 44,000 44,000
O24JtaM2 X EIY AMEE X3
40,000,000 40,000
= 20,000
Al 20,000
308 XM SOl 393,000 0 393,000
= 262,000
Al 131,000
01 AXEHIHEXS 393,000 424,500 431,500
O240tA MO8 AMEIE XIE 393,000,000 393,000
= 262,000
Al 131,000
IS NSHE 2EXE 46,000 0 46,000
= 23,000
Al 23,000
307 21201 & 46,000 0 46,000
= 23,000
Al 23,000
02 QIZHBMAIHE X 46,000 46,000 0
OJI=83s us 8¢ 46,000,000 46,000
= 23,000
Al 23,000
Jl=8s s 88MA 75 300,000 0 300,000
307 21201 A 300,000 0 300,000
02 QIZHEMAHE X 300,000 200,000 100,000
Ood 3z = =4 300,000,000 300,000
BHIZANE BASHZZOH(HEY) 320,000 0 320,000
= 160,000
Al 160,000
404 SNEBHNENES 320,000 0 320,000
= 160,000
Al 160,000
01 BAt- SHU=AES 320,000 0 320,000
OZI=ZNE BATHIZ S (HSZLHLY|)
=N 320,000,000& 320,000
= 160,000
Al 160,000
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IR AABH RS
£ M SM)ED
8 H: P33 23 (&9 3g)
ARE| - 2 - B - S2A(SH) - NRAR - BES of &t e DS
XXH JI2Ss S RS A (HE) 250,000 0 250,000
= 125,000
Al 125,000
401 AIEHI L 2 THYI 250,000 0 250,000
= 125,000
Al 125,000
01 Al&H| 250,000 0 250,000
OJI=8stAE EE X1 AMAE XM
250,000,000 250,000
= 125,000
Al 125,000
HI2SZH 47,180 53,281 26,101
238 (SM4J1=) 47,180 53,281 26,101
F A2 47,180 53,281 A6, 101
201 22| 27,480 31,481 24,001
01 At 22l 25,480 29,481 24,001
ORAN2g +=8H| 12,740,000& 12,740
OF=3={:] 12,740,000& 12,740
02 3523l 2,000 2,000 0
(@F=3=) 8= 2,000,000 2,000
202 O gl 9,500 11,000 41,500
01 =LHOIHI 9,500 11,000 21,500
OsMII= Jl=2ge =80 9,500,000 9,500
203 YR = 10,200 10,800 A600
01 J|&AE2E =AY 6,600 6,600 0
OJ122gdR=Ay| 6,600,000 6,600
04 FA2SELRFAH 3,600 4,200 2600
ORNAE2gg Rl 300,000& «12& 3,600
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